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| IRAT il Ll AT il L IR U AT 0 4000
] RAMT 1L AT b LA T SCAT 0 4000
I RAAT L 44T i L B WA AT 0 4000
] RAAT Ll AT i L B (S AT 0 4000
JRAMT 1L AT il Ll =K B e 52 AT 0 4000
JHRAMT 1L AT b L PEMESCAT B D= 1500 8500
] RAMT 1L AT itk LU BBHCAT 0 4000
I RAT L 44T i L B - AR SAT 0 4000
] RAAT A i Ll B AR AR SAT 0 4000
] IRAT ik L AT L R AT E 2000 20000
JRAMT 1L AT ffl LU A J S AT 0 4000
] RAMT 1L AT b LS ATE N E 2000 12000
I RAAT Ll 44T B L B AR SAT 0 4000
JRAMT 1L AT il 1l ¥ S2AT 0 4000
JRAMT 1L AT il LR S2AT 0 4000
JHRAMT 1L AT il Ll AT B E L = 2000 20000
JRAMT 1L AT filh LU E AT 0 4000
JHRAHT 1L AT i1l T 24T 0 4000
] RAAT A B Ll SR AE AT 0 4000
I IRAT b Ll AT i L1 B ¥ T AR SAT 0 4000
JHRAMT 1L AT il LS SATE D E 2000 12000
] RAMT 1L AT il 1Ly B AR e S AT 0 4000
I RAAT b 1L AT fl Ly B M LT S AT D S 1000 7000
JRAMT 1L AT il L KT SEAT E = 2000 12000
I IRAT il Ll AT i L) ¥ B U AT 0 4000
JRAMT 1L AT b L RSP ST E N E 2000 12000
] RAMT 1L AT itk LUy R g UK S AT E L 1000 7000
I RAAT b 1L AT il Ll B AT E L= 10000 10000
] RAAT Ll AT L P AT E = 1500 8500
I IRAT b Ll AT il Ll B S S AT E = 7700 6300
JRAMT 1L AT b LAV ST E N 2000 12000
] RAMT 1L AT b LA AT 0 4000
I RAAT L 44T B LR IX AT 0 4000
] RAAT Ll AT il L ] AR AT 0 4000
JRAMT 1L AT il Ll = KB S2AT 0 4000
JRAMT 1L AT il L =K SATE I E 2000 12000
] RAMT 1L AT il L =K N R AT 0 4000
JHRAMT 1L AT il Ll =K SCEE AT 0 4000
JRAMT 1L AT b Ll S B AT E b 1500 8500
] IRAT b Ll AT ffl Ll 5 B P TB R AT 0 4000
JRAMT 1L AT B LV SATE L E 2000 12000
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I RAAT b 1L AT il Ll BHER ST 0 4000
JRAMT 1L AT il Ly Il I S AT 0 4000
JRAMT 1L AT Bl LUy B 35 2 S AT B b 1000 7000
| IRAT il Ll AT e L B I il AT 0 4000
] RAMT 1L AT b LIS AT 0 4000
I RAT L 44T i LU R g L AT 0 4000
] RAAT A i L R I SAT 0 4000
JHRAMT 1L AT il 1Ly v B Tl b S AT 0 4000
| IRAT A e Ll R )R SAT 0 4000
] RAMT 1L AT GE S &y 0 4000
JHRAMT 1L AT b LU Ll S AT E = 1500 8500
JRAMT 1L AT b Ll SR AT E 2000 12000
I IRAT b Ll AT i L B AR AR SAT 0 4000
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JRAMT 1L AT il L S ME AT 0 4000
I RAAT b Ll AT i L B A AT 0 4000
] RAAT A il L R A SR SAT 0 4000
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JHRAMT FAYT o047 FHYL 7347 78 b 20000 47000
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JRAMT FHYL 04T FHYT 4211 3247 0 14000
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] RAMT BHYT 5347 FHYLRE B S AT 0 7000
JHRAMT FAYT o047 BV AT 0 14000
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| IRAT AT A AT E N E 2000 33000
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|47 KA AT J N EA K B8 AT 600 8900
|47 KA AT ]I R SAT 600 5900
I I 4T KA SAT N R R AT 600 5900
] AT K8 % AT J MR B8 AT 1300 16200
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JMAHAT PR S AT )RR S AT E L E 4200 29600
JPMAHAT PERR ST TN R RS AT 0 5600
]I AT MBS SAT ) MUK ST 0 7600
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JMAHAT PEPBR ST TN SUT 0 4600
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JMAHAT B=3UT I ST E N E 1700 14900
] AT =T J MR AL AT 1200 10400
I N4 5 =T TS AT 940 8160
]I AT =T J MRS M AT 1200 10400
I o4 5= AT I MYEYT B BR S AT 940 8160
]I AT F—UT J M — AT E = 3900 36400
]I AT ¥ T ] )T 700 5600
N4 F—3UT I R JE A O KRB AT 400 4400
]I AT F—UT M AT 700 5600
|47 F—UT NI B AT 700 5600
JINAT IRIRAT JMNEISATE I E 3000 29000
JMAHAT RISAT NI SAT 1000 10000
I N4 RISAT I e [ S2AT 1000 10000
]I AT & AT J I B HTICAT 1100 10400
|47 & AT J I B VTS AT 900 8400
]I AT & AT J N B AT E N E 2900 28000
] AT AT N BT SAT 900 8400
]I AT & AT N B AR ST 1100 10400
]I AT & AT J M B SRR AT 1100 10400
]I AT & E AT J I B T AT 1100 10400
]I AT & AT N B R SAT 1100 10400
JUINAT B AT N AR A S T AT 900 8400
I N4 & AT O B R RN AT 400 4100
|47 & AT J M B AR AT 900 8400
|47 & AT IR B A L A S AT 900 8400
I I 4T & AT I3 BB IR S AT 400 4100
] INAT AT J e B AR AT 900 8400
I N4 AT J M B AT 900 8400
]I AT & AT J M B R AT 1100 10400
]I AT Ji R AT J M5 A S AT 1200 11400
]I AT Ji M AT I A AT E N 3200 31400
]I AT Ji AT J MDA e SAT 1200 11400
]I AT Ji R AT NS A ZEIN 5247 1200 11400
] AT FIR AT ] R ERE ST 1200 9400
|47 Ji M AT N5 A AR e AT 1200 9400
I AT FIR AT M5 A IR AT 1200 9400
] AT FIR AT )BT I SAT 1200 9400
]I AT Ji R AT NS AR A VS ST 1200 9400

77 L, 90 W




TR HRAT S LB IR e W R A B

e _ . Zh=%:h) [Z
Al RREHK BUHE KO | FUHE HO

AT FIR AT I 5 A A RS S AT 1200 9400
] AT SR ST ] EE AT E D E 1140 14760
N4 R AT IR AT 400 4400
|47 EH AT J M R K ST 1800 0

|47 SR AT ] SAT 800 8400
JMAHAT AT J MR Tl el 5247 500 5400
] AT SR ST ]I AT 600 6400
I N4 R AT ]I S SAT 500 5400
|47 EH AT PRI 8 AT 400 4400
I o4 SR AT J TN AT 400 4400
JINAT SR ST IR ST 500 5400
JINAT SR AT ] INAT ST 800 8400
N4 R AT | SAT 400 4400
JMAHAT Tk KESZ AT | T kiE AT E s 3160 30440
JPMAHAT T KIESAT | SAT 1200 12400
JPMAHAT TKIESAT S SAT 1200 12400
JMAHAT T RIESAT B R SAT 1200 12400
N AT TP RIESAT TR ST 1200 12400
JMAHAT TKIESAT ) MBS SUT 1440 14560
JPMAHAT I SAT IR AT E L E 8600 21400
JPMAHAT AEI AT ]I AT 1900 13300
JINAT AW SAT J N LR B AT 1100 11500
JMAAT AEI AT ]I SATE I E 2600 22700
|47 AT J N B bR B AT 0 4300
I o4 AT N EICE AT 800 8800
]S AT AEI AT N e KR AT 0 7000
JUINAT AT JTNAE B A 7 K AT 900 7700
]I AT AT JIHAEE F LIS S AT 600 5000
|47 AT T IHAEAIRE AT 900 7700
|47 EH AT AR R ST 900 7700
AT AT T IHAEE IR IX AT 700 5900
JMAHAT EH AT ] N T E ML = 1700 14900
I N4 AT | INAEHS = AT 600 5000
|47 AT AR ST 600 5000
JPMAHAT E# AT T IMAEHSHE B SR S AT 900 7700
JMAHAT EH AT AR BRI ST 1000 8600
| 4T AT | IHAE SR th S T AT 600 5000
I N4 AT | IHAEAS VY ZE AT 600 5000
|47 AT PR B ST 800 6800
|47 1E# AT TP R B AT 800 6800
I 4T EH AT | IHAEHS i AR ST 600 5000
JINAT AR AT MBS SAT 1400 13400
] MAAT AR ST ] ST E I E 2200 20600
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JMAHAT AR ST I KA AT 1500 13300
] AT AR AT ] R ST 1500 13300
]I AT R AT J IR AT 1400 13400
|47 I SAT ] T ST 780 6620
|47 WIWAT MY AT 780 6620
I INAT I SAT )R PG % ST 890 7610
JMAHAT I SAT ]I SATE L E 1260 10940
JMAHAT WIWAT I HSAT 780 6620
|47 W SAT ] R RE AT 780 6620
I o4 WIWAT J N A AT 780 6620
I 4T I SAT J N EOE B AT 990 8510
JMAHAT I SAT JTIMIRSAT 730 6170
JMAHAT I SAT ]I FEARSAT 780 6620
JMAHAT I SAT NI ST 780 6620
|47 WIWAT ]IS AT 780 6620
JPMAHAT I SAT IR SAT 780 6620
JINAT I SAT M GRS AT 730 6170
I N4 I SAT ]I EE AT 780 6620
JMAHAT ST ] ST E L E 1400 15400
JPMAHAT HOH AT JINA ST 1000 10400
JPMAHAT O ST J NI ZR K AT 800 8600
JMAHAT O ST MBS AR B ST 800 8600
]I AT AT ML AT 800 8600
JMAHAT AT JTINEMRSAT 800 8600
JPMAHAT HOH AT ] IR SAT 1200 12200
JPMAHAT O ST A L R AT 1000 10400
JMAHAT O ST M R S AT 800 8600
AT | gssRorrx e [N EREIX AT 900 9000
JOIMAAT | AR AT [P R I SATE L E 1900 14000
PMNAT | gssARor R |7 NE R SAT 600 6400
IMNAT | gsmsRorrx g |7 NI SAT 600 6400
JUMAMAT | gseRIr R A )T MK AT R XK IR S AT 300 4000
JoMAAT | aemsRr R | NI RS S AT 600 6400
AT | gssRorRx s [N IX S AT 1200 11400
PMNAAT | gwsARsr R | TN EIRSE S AT 300 4000
JMAHAT IS AT I NI SATE N 3500 32600
JINAT IS AT ]I EYRES S2AT 1500 16400
]I AT IHIS AT I ERTAT 1000 11400
JMAHAT 18 AT ]I K AT 1000 11400
JMAHAT IS AT ] ST 1000 11400
JPMAHAT IS AT JNPE R SAT 1000 11400
JMAHAT i AT ] T P AT 1000 11400
] MAAT TAESAT I MRS AT ENLE 8400 30800
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NS AT WA XAT J 3 T B AT 0 5400
I INAHAT WA XAT JNHLIA AT 0 5400
I INAHAT WA XAT PR 3AT 0 5400
]IS AT WA XAT N BT 0 5400
NS AT WA XAT IR T SEAT 0 5400
NS AT WA XAT I A = BT 0 5400
] INAHAT WA XAT TR T AT 0 5400
NS AT WA XAT I A 3 H B AT 0 5400
]IS AT A AT NS AT 0 5400
NS AT WA XAT N SR SR AT 0 5400
NS AT WA XAT J S T AT 0 5400
NS AT WA XAT JINAEE AT 0 5400
JINAT JRTHT AT IR R S ATENEE 700 5900
I NS AT JHHT AT TN AR AR AT 900 7700
I INAHAT JH T AT N AR BRI AT 1200 10400
NS AT JH T AT R SAT 1300 11300
I INAHAT JH T AT JUMIE L AT 1400 12200
I INAHAT JEHT AT JTINEIR AT 900 7700
] INAHAT JH T AT S R AT 900 7700
NS AT JH T AT N AL AT 3700 12900
I INAHAT JH T AT [N E AT 700 5900
] INAHAT JH T AT I — B AT 700 5900
NS AT AT UM RN B AT 800 9600
]IS AT T AT DL AT 600 7600
I INAHAT T AT J N R AT 600 7600
NS AT T AT I N AT EE 2800 23800
NS AT AT AT R AT 800 9600
NS AT T AT N R ST 600 7600
] INAHAT M AT NIRRT 400 8600
I INAHAT M T N AT E N E 3600 17400
I INAHAT M T N SIS B SAT 400 8600
I INAHAT M T N RELAT 400 8600
NS AT M T MBI A K IE AT 400 8600
] INAHAT M AT NI AR AT 400 8600
JPMAHAT R AT I Tl AT 1100 15400
NS AT R XAT LR SEAT 1100 15400
NS AT R XAT ] HE AT 700 7400
NS AT R AT SN R ATENE 2300 24600
]IS AT KA AT N E B K E AT 700 7400
NS AT K XAT J N HE R B TR A S AT 3700 0

NS AT R AT N B B ST 600 11400
] INAHAT R AT JHIEAE AT 800 7400
JINAHAT KFHESAT UMK TPRESATE = 4800 12800
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]I AT KFZEAT J NG R AT 600 7900
]I AT KPHAT N AT 600 7400
NS AT KFZEAT IR AT 100 5400
|47 KFZEAT N AR AT 500 6400
|47 KFZEAT N IRIA AT 500 6900
I INAT RA-ZEAT I PN Pb RS S2AT 400 6400
]I AT KPHAT )N E AT 400 6400
NS AT KFZEAT N B AT 100 4400
JMAHAT FEIFE RS AT )N AR S AT E = 1000 18200
]I AT AR % AT [ MY R Kl S AT 1000 10400
]I AT AR B SAT )N R E ST 1000 10400
JMAHAT AR AT | N P ST 1000 10400
N4 AR SAT )T R AT 2000 9400
]I AT AR AT )NV B AT 4000 10400
]I AT AR AT )RR SUT 6000 10400
JPMAHAT [FEAEH ST MBI SAT 4000 6400
JMAHAT FEMEH ST T HNER ST 4000 5400
I N4 AR SAT )N E AR SAT 1000 9400
JMAHAT [FAEH S AT | NI LIE AT 1000 10400
JPMAHAT [FEAE ST [N ST 1000 10400
]I AT [FAR AT ) MER) 33T 1000 10400
JINAT JIEAT ]I SATE I E 1800 8200
]I AT AT J N B KT P SAT 1500 14900
]I AT FEXAT A ESATE 2500 24100
]I AT AT MK B AR AT 600 6800
JPMAHAT ST ]I E PN SAT 600 6800
] Ma AT FE S5, ] IH IR ST 600 6800
]I AT FEXAT J IR AT 600 6800
]I AT AT ]I AT 1000 10400
]I AT VEAERR AT JIHPE AR AT E D E 11100 33400
JPMAHAT PHAEEE AT ] A L\ B AT 0 27500
]I 4T VEAEE% AT J M ZR X 2% AT 0 27500
JMAAT PHAEEE AT ] BT 0 16500
]I AT B SAT I P AR S AT 500 4400
|47 BT I AT E 700 6400
]I AT BT T NETE I AT 500 6400
] AT BT IR R AT 500 4400
NS AT BT Y RIS AT 500 6400
|47 B SAT J N K S AT 500 5400
|47 BT J N A A el AT 500 4400
I AT BT IRLE R PN Sy 500 4400
] AT BT JMNARFESAT 500 4400
NS AT B SAT J Y AR S AT 500 4400
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]I AT BT J N AT AT 500 6400
]I AT BT T IMBE I R X AT 500 4400
N4 55 AT JINAAR AT 300 5400
JMAHAT B AT ] E TS AT E L E 3400 24200
|47 55 AT JHRNE AT 300 5400
]I AT EIEAT J IR PH) 3 34T 400 6400
JMAHAT B AT J AR AT 400 6400
I N4 55 AT JIHA R AT 300 5400
|47 55 AT I B B AT 300 5400
JINAT = L SAT M =l AT E N E 3000 22200
JPMAHAT =T ] ST 500 6600
] MG AT =T JINGEE AT 500 6600
N4 = AT J M B A T R SAT 500 6600
]I AT = AT J M R AT 500 6600
JPMAHAT =T J MR SAT 1400 6600
JPMAHAT =T N BT 400 7600
JMAHAT =T ] AT ST 500 11600
I N4 = AT 7N M B8 AT 500 6600
]I AT = AT MR T KR AT 500 6600
]I AT = I AT | IHYDTH AT 500 9600
]I AT I AT I M B A B S AT 500 5900
JMAHAT B SAT J NI AT 500 5900
]I AT W AT PN IR S AT 550 6200
]I AT W AT JIHBE AT E = 850 10900
]I AT W AT J IR B A AT 550 6200
]I AT I AT J A I P SAT 500 5900
]I AT B AT J P HE I B SAT 500 5900
]I AT W AT MBI AR A AT 500 5900
]I AT W AT J NI A AT 550 6200
RIYNHAT L AT K SATE NS 0 54000
w47 i 5 AT A T AT B 0 40000
RINAT | RIYNGHATENE | AT E D 0 70000
RIHT RIS AT RYINE AT D 0 42000
W AT | moBl e X AT | e el e X S AT 8 0 40000
EIYNAT AT HEHSATE DV 0 40000
RYNAT ANy 21 [ AT E D 0 54000
EINAT ST TS AT EDIER 0 54000
RYNDAT B L ST B L S AT EDIE 0 54000
RYNAT HI AT B AT 8B 0 30000
RIYNHAT BT B SATE 0 40000
RYNAT HNAT HONAT 0 30000
RIYNHAT AT HAE AT EDIER 0 42000
RYNDAT L AT I AT EDIV 0 42000
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EIYNAT X AT e X SATEDIV 0 40000
EIYNAT B AT B SAT EDIER 0 40000
RYNAT RITAT RITATE VS 0 42000
RINHAT A H AT A FH AT EDIV 0 54000
RIYNHAT K SAT A K AT EDIV 0 30000
RYNAT R b AT fRn B b S AT BV 0 40000
EIYNAT B AT T ) AT DL 0 40000
RYNAT SR SAT PRI AT 0 50000
RIYNHAT AT BN SATEDV 0 54000
RINHAT PRI SZAT PRI SATEDIV 0 42000
RIYNHAT I 13247 s 1 SCATEDIV 0 42000
RIYNHAT RIR AT RZR AT BB 0 42000
RYNDAT #hH AT AT EDV 0 40000
RIYNHAT SRV SAT SRV AT EDIV 0 40000
PUNorT BRAET BRACTRIN AT 0 5000
V91T BRASIT R AR SAT 0 5000
Pl AT BRAET BT X AT 0 6000
PUNarT AT R AR R AT 0 8000
V9 sr AT BT BERAEK G AT E 0 7000
Vg sr AT BRAIT R AT E S 0 10000
V95T BRAIT SRR 2 T B S AT 0 9000
PyNIarAT BRAET BERACRIE 54T 0 8000
V94T BT BRI AT 0 5000
PUNarT BRAET BRAA R —AT 0 5000
Vi sr AT BRAIT BRGNS 3AT 0 5000
V95T BRASIT B AL 3T 0 5000
V95T BRAE T B ST Sy HiAL 0 5000
V9o BT B A P SAT 0 5000
Vg sr AT BRAETIT R A R AT 0 7000
Vi sr AT BRAIT BRACK G WAL AT 0 5000
V9T BRASIT BHACHTR % AT 0 8000
V9o Hoio 4T H o KAE KIE AT 0 20000
V95T Hoi0 1T H ot s B AT 0 28000
V9 sr AT Hoi0 1T H oT S HISAT 0 20000
Vg sr AT Hoi 04T H T Hy AT 0 20000
V95T Hoi0 1T H ot & ST B E 0 30000
V9T Hoi AT HooR BT 0 30000
V9o PIAAT VNI AT 0 3000
V9 sr AT FNAAT VN IE R AT 0 16000
Py T PN AT PHA MR AT 0 3000
V91T FNAAT P25 AT 0 3000
V9o VI TAT VN AT BB 0 35000
V9o PIAAT VN e S AT 0 16000

% 83 Ti, 90




TR HRAT S LB IR e W R A B

p _ p SIp=¢ [Z
B ikt I L
V9T FNAAT YIRS AT 0 3000
V95T FNAAT PRI AT 0 3000
V95T VAT PNGNE AT 0 3000
V9 sr AT FNAAT VN B IX AT 0 3000
Vg sr AT FNAAT PN E B ST 0 3000
V9o FNAAT VM EISAT 0 3000
V9T FNAAT PR AT 0 3000
V9T FNAAT PN SAT 0 3000
V9 sr AT FNAAT VYT B e SAT 0 4000
V9o FNAAT PINEILSATE L E 0 4000
V91T FNAAT PNABUK SR AT 0 4000
V9T FNAAT P ST E M E 0 4000
V9o T BH AT 1 BH AR R AT 0 22000
V9 sr AT PERH AT 7 B JE 2R S2AT 0 2000
PUNorT TERH T T BH B B AT 0 3000
V91T T FH AT T RE S 1 S AT 0 2000
P9I sr AT HBH AT 7 B 78 T S AT 0 3000
V94T T BH AT T8 80 5 1 8T AT 0 2000
PUNarT TERH AT TEBH TR A AT 0 2000
Vg sr AT PERH AT 1 BH R X AT 0 2000
V95T T BH AT 7 [SH W BH 24T 0 26000
V9T HBH AT JL S 47 R YT D6 B ) T A 0 2000
V94T T BH AT 7 B JE R SCAT 0 2000
V9 sr AT FERH AT P BH SR AT 0 2000
Vi sr AT f FH 44T P FH A AT 0 3000
V95T TERH AT PRIk e AT 0 3000
ynaAT PERH AT A B B SCAT 0 2000
V9o T H AT T BH AR VR ST 0 2000
Vg sr AT PERH AT BT 0 10000
Vi sr AT PERH AT ] AT 0 16000
V9T TERH AT J U L AT 0 2000
V95T PERH AT B AT 0 16000
VUNarT TERH AT 38 43 B 4% SEAT 0 2000
V9 sr AT T FH AT T AT 0 16000
Vg sr AT Tl FH AT ST AT 0 2000
V95T T FH AT HRYT AT 0 16000
V9T RIAMAT SRR SOAT 0 8000
V9o KT ENIESE S &) 0 8000
V9 sr AT KILAT SR IEM S AT 0 8000
Vg sr AT RLAT AT 0 8000
V91T KILAT SRR ST 0 22000
V9T RIAMAT R SAT 0 8000
V9o KT okl & O AT 0 6000
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V9T KT SR M ST 0 10000
VU T RIAMAT JATLIATEN = 0 8000
V95T KT ST IR R AT 0 6000
V9 sr AT SILAT BN ATENL = 0 8000
Vg sr AT RLAT A L S AT BN E 0 8000
V9o KT U L 2T A5 S04 T 0 6000
PUNarT RIAMAT i AT E D E 0 6000
V9T KT BT ENE 0 8000
V9 sr AT ST TUBEM AT E L E 0 8000
V9o RILAT W SAT 0 8000
V91T WILAHAT WYL AT 0 6000
ynaaT WILAHAT WYLIE RIS AT 0 5000
V9o WYLAAT VLY AR o #E AL 0 5000
V9 sr AT WL AT WYL RN ST 0 5000
Vi sr AT WYL AT T E e ST 0 6000
V91T WILAHAT FE B 20 AT 0 6000
st WILAHAT B B B e ST 0 5000
V94T WYLAAT JaZE A AT 43 B AL 0 5000
V9 sr AT WL AT WYL R IR AT 0 6000
Vg sr AT WILAMT WYL H 55T 0 5000
V95T WILAHAT WIYLH ST 0 10000
V9T WYL AT WYL PG AR X AT 0 5000
V94T WILAT WILHARSAT 0 5000
V9 sr AT WYL AT WILAATENL=E 0 10000
Vi sr AT WILAMT WYL TR 39547 0 5000
V95T WYL AT TR ATE L E 0 10000
V95T WYL AT FHh SR IL ST 0 5000
V9o WILAT JB AT E N E 0 10000
Vg sr AT WILAHT BB ST E N E 0 10000
Vi sr AT ZRFHAMT 2 P A BT ST 0 10000
V9T ZRFHAMT AR PHVLI K Rk 54T 0 10000
V95T HRFHAMT SRBH LS AT 0 10000
V95T 4RFHAMT 2 BH 47 78IS 0 13000
V9 sr AT RFHAMT AT AR KX AT 0 15000
Vg sr AT HRFHAMT 2 PH T 20 3 S AT 0 10000
V95T RFHAMT 2 BH 22 P SR IR S2AT 0 12000
V9T RFHAMT SR P SAT 0 15000
PUNarT 4RFHAMT 4RBH S F AT 0 15000
V9 sr AT RFHAMT 2 B I el > AT 0 15000
Vg sr AT HRFHAMT 2R BHUE AL SCAT 0 20000
V91T RFHAMT ARBH =R ST 0 15000
V9T RFHAMT ARPHRL AT E 0 20000
V9o 4RFHAMT SR PHHT ST 0 15000
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V9T ZRFHAMT AP SATE I E 0 10000
V95T RFHAMT SR PHVL I S AT E = 0 20000
VUNarT RFHAMT 2 PH AR SCAT 0 10000
V9 sr AT RFHAMT 25 PH AT 0 10000
Vg sr AT HRFHAMT M= GATE I E 0 15000
V9o RFHAMAT APV AR S AT E L E 0 10000
ynaaT ] IUAHT ] IuER ST 0 3000
V9T ] IUAHT | EE ST 0 5000
PUNarT ] U |G R R AT 0 4000
V9o ] IuAT | nESATE L E 0 4000
V91T ] IUAT | IGEAR AT 0 3000
V9T ] IUAT A AT EDVE 0 30000
PUNarT ] U I ou R 2 AT 0 4000
V9 sr AT ] IuAT ]S SAT 0 4000
Vi sr AT ] IUAT ]G L B AT 0 6000
V91T ] IUAHT IR X AT 0 4000
st ] IUAHT | HNSAT 0 4000
PUNarT ] U GRS AT 0 5000
V9 sr AT ] IuAHT | uE B ST 0 5000
Vg sr AT ] IUAT | ST 0 4000
V95T ] IUAHT | ICHEAS 418 AT 0 4000
V9T ] U | OGHEE AT E M E 0 4000
V94T ] IUAT ] ST 0 4000
V9 sr AT ] IuAT | SAT 0 3000
Vi sr AT ETT BT AR T FAL 0 5000
V95T ETT FT AT DI 0 14000
Py T BT oA e Tolk [ X S AT B 0 5000
V9o ETT BT RN AT 0 6000
PUNarT BT AT BTERIATEE 0 7000
PUNorT BT AT B AT E W E 0 14000
V9T ETT BT RISATEIE 0 7000
V95T R4 BT E AT 0 6000
V95T TEBHAT ¢ BH 22 U AT 0 5000
V9 sr AT ZERH AT FE PRI R ST 0 8000
Vg sr AT BB AT T PH AT AT 0 5000
V95T TEBHAT YA IR AT 0 6000
V9T TR AT BEBHZEIN AT 0 6000
V9o BEBHAT 7% PH 2 IR AT AT 0 6000
V9 sr AT FPH AT FBHYE AR ST 0 6000
Vg sr AT TBHAT ZPH SR 2 AL AT 0 6000
V91T TBHAT FEHA AT E R 0 12000
V9T TR AT ) I ST 0 9000
V9o BEBHAT 7% BH AL 2% AT 0 8000
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V9T TR AT FH A AT E M= 0 9000
VU T BEBH AT BB BT EN = 0 8000
VUNarT BEBH AT ZEBH SR AN £ KIE AT 0 6000
V9 sr AT JE LT JE L2132 ATE I E 0 12000
PUNorT JENIFX JE WL PHE AT E 0 8000
V9o JELILAHT JE WL HE S AT E L E 0 12000
PUNarT JE L AT JE I EHE AT E I E 0 16000
V9T JE LT JE L A7 I 0 28000
V9 sr AT JE LT JE LT ST 0 8000
V9o HEMT B =L S0AT 0 7200
V91T HEMT HEMTE S 0 8800
VU T HEMT HEWE) AT 0 7200
V9o HEMT HERR ST 0 7200
PUNarT HEMT B TURMCAT 0 7200
Vi sr AT HEMT HE R SUT 0 7200
V91T HEMT SR ST 0 7200
P9I sr AT HEST H A ST 0 7200
PUNarT HEMT HEMEATE = 0 7200
V9 sr AT HEMT HER ST 0 7200
Vg sr AT HEMT HESE AT 0 7200
V95T HEMT HEMMNATE N E 0 7200
PUNarT HEMT HEBRAEATEE 0 7200
VUNarT HEMT HEKTATEE 0 7200
V9 sr AT HEMT HEM T 0 7200
PUNorT HEMT B RV 2R KB ST 0 7200
V95T HEMT HESE T 0 7200
Py T MR MAANR AT 0 6000
VUNarT MR R AP SAT 0 6000
Vg sr AT BT AR AT 0 20000
Vi sr AT BT FAR R SAT 0 6000
V9T BT AR SATE I E 0 6000
V95T BT B AT ED 0 34000
VUNarT MR MR UAT 0 6000
PUNarT MR AT R R AT E = 0 6000
PUNorT M RRAT MAE L SATE I E 0 6000
V95T BT B RE R SUATEIE 0 6000
ynaaT BT AR SATE I E 0 6000
V9o | AT |2 AT EDIV 0 16000
PUNarT | AT TR SAT 0 8000
Vg sr AT | AT "R SAT 0 8000
V91T | AT | E ST E L E 0 10000
naaT | AT | ST E N E 0 10000
V9o | AT |2 KT E I E 0 10000
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V9T | AT | SATE I E 0 10000
st EMAHAT M AT ENLE 0 16000
V95T EMAHAT K )1 SAT 0 16000
V9 sr AT EMAHAT IR LLHE RS AT 0 6000
Vg sr AT IEMAHAT KR SAT 0 10000
V9o IEMAHAT KPR SATE N E 0 12000
V9T EMAHAT M ER AT E = 0 12000
V9T IEM AT MR A SATE I E 0 12000
V9 sr AT EMAHAT MR SATE = 0 8000
V9o IEMAHAT IEM I SAT 0 8000
V91T EMAHAT 1K SR AT 0 6000
V9T EMAHAT KN PE ST IX AT 0 8000
V9o T e BLBH AT 0 3000
V9 sr AT T RS ST 0 3000
PUNorT s A R RV 5 L KTE SCAT 0 3000
V91T T LA BN AT 0 6000
st T B @V AT E 0 9000
V94T T B AR S AT E N E 0 6000
V9 sr AT BT EHFESUATEIE 0 7000
PUNorT s A B R EE ORI ST 0 3000
V95T BT BT EDI 0 17000
ynaaT T B B X SAT 0 3000
VUNarT M2 AT 22 REJ KT S AT 0 5000
V9 sr AT ML AMT HEZE _EIEE AT 0 5000
Vi sr AT HEL AT 2P TR AT 0 5000
V95T HELZ AT HE 22 AL AT 0 6500
PaNlsrAT i 2 R KA AT 0 6000
V9o HELZAHT M 42 ISV A % SCAT 0 6000
Vg sr AT HELZAMT M2 AT B 0 6500
Vi sr AT HEL AT e 44 1L ST 0 6000
V9T HELZ AT HE2 1L AT 0 6000
V9o i e 98 4 ST 0 6000
V95T HELZAHAT ML PO SATEN = 0 4500
V9 sr AT ML AHT HEL PO AT L E o B 0 2500
Vg sr AT HEL AT LA SATE = 0 4500
V95T HELZAAT 2 MR AT 0 2500
V9o i e R A AT 0 6000
PUNarT HaEET | HHEESUATEIE 0 6000
V9 sr AT FIIE B AT | BT E B S AT E = 0 7000
Vg sr AT PR B S AT | JL3EIE ST 0 2000
V91T AT BBV L AR AR A AT 0 20000
V9T AT FREB YT B3 S AT 0 22000
V9o A AT AT S AT ENLE 0 26000
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V9T AT FRER T & BH % S AT 0 22000
st AT FCER R T ST ENL = 0 26000
V95T AT PR ER AR KA AT 0 20000
V9 sr AT AT AR ERAR T S2AT 0 26000
Vg sr AT AT AR ER ST E = 0 28000
V9o AT AR AR R 2 Lolk e (X AT 0 22000
ynaaT AT A AR R ST ENL = 0 26000
PyNarT AT FSCHS v B A MK e B SCAT 0 22000
V9 sr AT AT RS R AT E 0 26000
V9o AT R G 2 B ORI S AT 0 22000
V91T AT G ST E I E 0 26000
ynaaT AT RS T B ST 0 22000
V9o AT RS AT E I E 0 26000
V9 sr AT AT PRV O - ST 0 22000
Vi sr AT AT BV AT E L 0 26000
V91T AT SR SATE = 0 26000
P9I sr AT AT FRERER T O P ST 0 22000
V94T AT RS ER T O AT BN = 0 26000
V9 sr AT A AT RREBTE SR B S AT 0 22000
Vg sr AT AT PR TE SR AT E = 0 26000
V95T AT RS SEIN SATE L E 0 20000
V9T AT R B SATE I E 0 20000
V94T AT PSRV LIE AT B = 0 20000
V9 sr AT AT R T BH AT b = 0 20000
Vi sr AT AT RS G S AT E 0 20000
V95T AT RS SRR 1R % AT 0 20000
ynaAT AT FCES IR AT ENL = 0 22000
V9o AT AN AT ENLE 0 20000
Vg sr AT AT PR ES S AT E b = 0 22000
Vi sr AT AT T EL AT BN = 0 20000
V9T AT AL AT E I E 0 20000
V95T AT RIS ok S AT 8 b = 0 20000
V95T AT B SR BH S AT 0 20000
V9 sr AT AT B ST E b 0 22000
Vg sr AT AT RS R S ATE D E 0 22000
V95T AT RS HT R SATE = 0 22000
ynaaT AT ST ST ENL = 0 20000
V9o L AMAT IR LT R ST 0 11000
V9 sr AT LT LT ENLE 0 11000
Vg sr AT L AMAT U LU AT H 0 Sy B Ak 0 5000
V91T SR AMAT AT =25 10 AT 0 12000
V9T SR AMAT U Ll AT R AT 0 9000
V9o L AMAT TR LM T HLRIRSAT 0 10000

%89 Wi, F 90 T




TR HRAT 2 —

LB T T2 5 e oA

RS B

p _ p S E
B ikt I L
V9T SR AMAT T L AT R B % AT 0 10000
V95T SR AMAT WL AT K 2 PR ST 0 10000
V95T L AMAT LM T S BT E L E 0 9000
V9 sr AT LT U LT BT EE ST 0 8000
Vg sr AT L AMAT TR LT S AT 0 6000
PUNarT AT L AT B T AT 0 6000
PUNarT SR AMT L AMT R AT 0 4000
V9T L AMAT L AT & BH AT 0 3000
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